
(I) Non Sequitur (1/1) [Solution] 

I1. Fill in the blanks: 

(a)  shortest 

(b)  L1 or L2 

(c)  longest 

(d) L1 

(e) longest 

(f) L1 or L2 

(g) longest 

(h) L2 

(i) longest 

(j) L1 or L2 

(k) longest 

(l) L1 or L2 

I2. Definitions (multiple answers listed under a given strategy are all acceptable): 

(a) reunion 

1. the opposite of a charged particle again 

2. a workers’ organization again 

3. a workers’ organization again 

 the opposite of a charged particle again 

4. a workers’ organization again 

(b) unrest 

1. the opposite of a street again 

2. the opposite of stay still 

3. the opposite of stay still 

 the opposite of a street again 

4. the opposite of stay still 

(c) presto 

1. a street again (??) 

2. stay still (??) 

3. not yet a street (?) 

4. stay still (??) 

I3. Other word: recent 

 Definition: a penny again 


